

Shipment Receipt

Shipment From

Maple Logistics Solutions Lisa Foltz /Barry Forgeng 60 Grumbacher Rd

17406 York Pennsylvania United States of America +17177644596

jrogenski@grovara.com

Shipment To

Tridge Co. LTD. Emma Kim 6F, 226 Bangbae-ro, Seocho-gu Seoul 06584

06584 SEOUL Korea, Republic of (South K.) +821053329925

Shipment Details

Shipment Date: 2020-11-25 Waybill Number: 4896987804

Service Type: EXPRESS WORLDWIDE

Packaging Type: My Own Package

Number of Pieces: 1

Total Weight: 12.00lbs
Dimensional: 16.58lbs
Chargeable: 17.00lbs

Insured Amount:

Terms of Trade: DDP

International Information

Declared Value: 21.00 USD

Duties&taxes acct: Shipper

Dutiable Status: Dutiable

Estimated Del date: Monday, 30 Nov, 2020

Promo Code:

Billing Information

Payment Type: DHL Account Number

Billing Account: 849033339
Duties&taxes acct: 849033339
Charge Breakdown: 145.87 USD

Special Services: Fuel Surcharge/Import/Export

Duties/Duties and Taxes
Paid/Import Export Taxes/

Emergency Situation

Charge is estimated until DHL reweigh and may not include all fees and surcharges. Shipments paid by credit card: If the final billed amount exceeds the original pre-authorized amount, you will receive a second charge for the additional amount. Both the original and additional charges will reference the same shipment number.

Reference Information

Reference: Rule Breaker / Tridge Co.
Pickup reference nr: AME201125009495

Description of Contents

non-commercial samples for Rule Breaker Brand

Sender

Maple Logistics Solutions Lisa Foltz /Barry Forgeng 60 Grumbacher Rd

York, 17406 Pennsylvania United States of America

Phone Nr.: +17177644596

Tax ID/VAT No.:

EORI:

Proforma Invoice

Date: 2020-11-25 Waybill Number: 4896987804

Invoice Number:

Exporter ID: Exporter Code:

Bank Details

INN: OGRN: KPP: OKPO:

Receiver

Tridge Co. LTD. Emma Kim

6F, 226 Bangbae-ro, Seocho-gu

Seoul 06584 SEOUL, 06584

Korea, Republic of (South K.)
Phone Nr.: +821053329925 Fax:

Tax ID/VAT No.: 770-87-00283 Email: emma.kim@tridge.com

Fax:

EORI:

Billed to

Shipment Reference: Rule Breaker / Tridge Co.

Receiver Reference:

Other Remarks:

Phone Nr.: Fax:

Tax ID/VAT no:

Full Description of Goods	Commodity	Qty	Unit Value	Sub-Total	Net Weight	Gross	Country
Tun bescription of coods	Code	4.9	Jiii value	Value	Not Weight	Weight	of Origin
Chocolate Chunk Blondie / non- commercial value	1806.10. 0500	6.00 PCS	0.50 USD	3.00 USD	0.12 lb	0.12 lb	UNITED STATES OF AMERICA
Deep Chocolate Brownie / non- commercial value	1806.10. 0500	6.00 PCS	0.50 USD	3.00 USD	0.12 lb	0.12 lb	UNITED STATES OF AMERICA
Birthday Cake Brownie / non- commercial value	1806.10. 0500	6.00 PCS	0.50 USD	3.00 USD	0.12 lb	0.12 lb	UNITED STATES OF AMERICA
P'Nutter Chocolate Chip Blondie / non-commercial value	1806.10. 0500	6.00 PCS	0.50 USD	3.00 USD	0.12 lb	0.12 lb	UNITED STATES OF AMERICA
Chocolate Chunk Brownie Bites / non-commercial value	1806.10. 0500	6.00 PCS	0.50 USD	3.00 USD	0.25 lb	0.25 lb	UNITED STATES OF AMERICA

Sender **Proforma Invoice** Maple Logistics Solutions Lisa Foltz /Barry Forgeng 60 Grumbacher Rd York, 17406 Date: 2020-11-25 Waybill Number: 4896987804 Pennsylvania Invoice Number: United States of America Phone Nr.: +17177644596 Fax: Exporter ID: Tax ID/VAT No.: **Exporter Code:** EORI: **Bank Details** Receiver OGRN: Tridge Co. LTD. INN: Emma Kim KPP: OKPO: 6F, 226 Bangbae-ro, Seocho-gu Seoul 06584 SEOUL, 06584 Korea, Republic of (South K.) Phone Nr.: +821053329925 Fax: Tax ID/VAT No.: 770-87-00283 Email: emma.kim@tridge.com EORI: Shipment Reference: Rule Breaker / Tridge Co. Billed to Receiver Reference: Other Remarks: Phone Nr.: Fax: Tax ID/VAT no: **Unit Value** Sub-Total **Full Description of Goods** Commodity Qty **Net Weight** Gross Country Code Value Weight of Origin Deep Chocolate Brownie Bites / non-1806.10. 6.00 PCS 0.50 USD 3.00 USD 0.25 lb 0.25 lb UNITED commercial value 0500 STATES OF AMERICA 1806.10. 6.00 PCS 0.50 USD 3.00 USD 0.25 lb 0.25 lb UNITED Birthday Cake Bites / non-STATES OF commercial value 0500 AMERICA Total Goods Value: 21.00 Total Net Weight: 7.38 lb Total Gross Weight: 7.38 lb Total line items: 7 Number of pallets: 0 Currency code: USD Total units: 42.0 Terms of Payment: Reason for Export: Sample Payer of GST/VAT: Type of Export: Permanent Duty/taxes acct:849033339 Terms of Trade: **Delivered Duty Paid** Requiere Pedimento: No Duty/tax billing service: Other charges: 0.00 Freight cost (if paid by sender): 0.00 Carrier: DHI Shipment protection (if paid by sender): Ultimate Consignee: 0.00

These items are controlled by the U.S. government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.

Exemption Citation/License Nr: EEI: NOEEI 30.37(a)

I/We hereby certify that the information contained in the invoice is true and correct and that the contents of this shipment are as stated above.

Name:	Signature:	Company Stamp:
Position:		

Total Invoice Amount:

Date of signature:

21.00

Page 2 / 2

Sender

Maple Logistics Solutions Lisa Foltz /Barry Forgeng 60 Grumbacher Rd

York, 17406 Pennsylvania United States of America

Phone Nr.: +17177644596

Tax ID/VAT No.:

EORI:

Proforma Invoice

Date: 2020-11-25 Waybill Number: 4896987804

Invoice Number:

Exporter ID: Exporter Code:

Bank Details

INN: OGRN: KPP: OKPO:

Receiver

Tridge Co. LTD. Emma Kim

6F, 226 Bangbae-ro, Seocho-gu

Seoul 06584 SEOUL, 06584

Korea, Republic of (South K.)
Phone Nr.: +821053329925 Fax:

Tax ID/VAT No.: 770-87-00283 Email: emma.kim@tridge.com

Fax:

EORI:

Billed to

Shipment Reference: Rule Breaker / Tridge Co.

Receiver Reference:

Other Remarks:

Phone Nr.: Fax:

Tax ID/VAT no:

Full Description of Goods	Commodity	Qty	Unit Value	Sub-Total	Net Weight	Gross	Country
Tun bescription of coods	Code	4.9	Jiii value	Value	Not Weight	Weight	of Origin
Chocolate Chunk Blondie / non- commercial value	1806.10. 0500	6.00 PCS	0.50 USD	3.00 USD	0.12 lb	0.12 lb	UNITED STATES OF AMERICA
Deep Chocolate Brownie / non- commercial value	1806.10. 0500	6.00 PCS	0.50 USD	3.00 USD	0.12 lb	0.12 lb	UNITED STATES OF AMERICA
Birthday Cake Brownie / non- commercial value	1806.10. 0500	6.00 PCS	0.50 USD	3.00 USD	0.12 lb	0.12 lb	UNITED STATES OF AMERICA
P'Nutter Chocolate Chip Blondie / non-commercial value	1806.10. 0500	6.00 PCS	0.50 USD	3.00 USD	0.12 lb	0.12 lb	UNITED STATES OF AMERICA
Chocolate Chunk Brownie Bites / non-commercial value	1806.10. 0500	6.00 PCS	0.50 USD	3.00 USD	0.25 lb	0.25 lb	UNITED STATES OF AMERICA

Sender **Proforma Invoice** Maple Logistics Solutions Lisa Foltz /Barry Forgeng 60 Grumbacher Rd York, 17406 Date: 2020-11-25 Waybill Number: 4896987804 Pennsylvania Invoice Number: United States of America Phone Nr.: +17177644596 Fax: Exporter ID: Tax ID/VAT No.: **Exporter Code:** EORI: **Bank Details** Receiver OGRN: Tridge Co. LTD. INN: Emma Kim KPP: OKPO: 6F, 226 Bangbae-ro, Seocho-gu Seoul 06584 SEOUL, 06584 Korea, Republic of (South K.) Phone Nr.: +821053329925 Fax: Tax ID/VAT No.: 770-87-00283 Email: emma.kim@tridge.com EORI: Shipment Reference: Rule Breaker / Tridge Co. Billed to Receiver Reference: Other Remarks: Phone Nr.: Fax: Tax ID/VAT no: **Unit Value** Sub-Total **Full Description of Goods** Commodity Qty **Net Weight** Gross Country Code Value Weight of Origin Deep Chocolate Brownie Bites / non-1806.10. 6.00 PCS 0.50 USD 3.00 USD 0.25 lb 0.25 lb UNITED commercial value 0500 STATES OF AMERICA 1806.10. 6.00 PCS 0.50 USD 3.00 USD 0.25 lb 0.25 lb UNITED Birthday Cake Bites / non-STATES OF commercial value 0500 AMERICA Total Goods Value: 21.00 Total Net Weight: 7.38 lb Total Gross Weight: 7.38 lb Total line items: 7 Number of pallets: 0 Currency code: USD Total units: 42.0 Terms of Payment: Reason for Export: Sample Payer of GST/VAT: Type of Export: Permanent Duty/taxes acct:849033339 Terms of Trade: **Delivered Duty Paid** Requiere Pedimento: No Duty/tax billing service: Other charges: 0.00 Freight cost (if paid by sender): 0.00 Carrier: DHI Shipment protection (if paid by sender): Ultimate Consignee: 0.00

These items are controlled by the U.S. government and authorized for export only to the country of ultimate destination for use by the ultimate consignee or end-user(s) herein identified. They may not be resold, transferred, or otherwise disposed of, to any other country or to any person other than the authorized ultimate consignee or end-user(s), either in their original form or after being incorporated into other items, without first obtaining approval from the U.S. government or as otherwise authorized by U.S. law and regulations.

Exemption Citation/License Nr: EEI: NOEEI 30.37(a)

I/We hereby certify that the information contained in the invoice is true and correct and that the contents of this shipment are as stated above.

Name:	Signature:	Company Stamp:
Position:		

Total Invoice Amount:

Date of signature:

21.00

Page 2 / 2